GRAPH ITI Student's Name 1A

Class Date

Locate the following points on the graph below and connect them in order with straight line
segments. Do not connect points separated by the word "STOP."

(X.Y) = (:6,12), (-6,11), (-5,10), (-4.10, (3,11), (:3,12) STOP (-109), (-11,8), (-11,7), (10,6}, (-9,6).(87), (-88),
(-9.9).(-10,9) STOP (8,5), (-9,4), (-9.3), (-8,2), (-7.2), (-6,3),(-6,4), (-7,5), (-8,5) STOP (-8,-7), (-8,-8), (-7,-8),
('7:'7): ('81-7) STOP {'21'4)! (09-4)1 (23-3)! (3u'2)| (3)-1)1 ('1 '-2)! ('2!-3)1 (-2l-4) STOP (-5l~1)l (-512)' (-2l4)! (2l4)’
(3’3)' (6'3)’ (7'4)' (5’5)' (1 ’5)’ (1 '7)' (2l8)= (2!10)n (3!11)I (4:11)' (6.8), (816)! (8:3)| (6,'3), (71-5)1 (7|'8)| (61'12):
(5.-10), {5,-8), (6,-7), (6,-6), (5.-6), (4,-8), (4,-10), (5,12} STOP (8,12), (7,10), (7.8), (8,6) STOP (9,12), (8,10),
(89), (10,11),(10,12) STOP (11,12), (11,11), (10,9}, (8.8), (9,5), (8,0}, (7.-2), (8,-5), (10,-2), (10,0}, (11,2), (11,3),
(1214) STOP (12’2)I (11|0): (110'2)1 (10r'4)| (8!'6)1 (81'8)0 (71'12) STOP (gls)l (912)- (8!'1)1 (7!'2) sTOP
(4)7)'(7'5)l(7!4) STOP (3'3)l ('3:1)' ('91'5)1 ('101'8)0 ('1 01'10): ('9,'1 0), ('6,"9). ('8,'10), ('9,‘11),(-8,-11),('6.-9)
STOP (-4:9), (-3,6), (4.-4), (-5,3), (:6.3) STOP (811), (2,8), (-1,9), (1,9), (2,8), (1.-7), (1.5), (-2-5),
(-2,-8) STOP(1,-6),(6,-3).
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